Day to Day Power Beam Disassembly Instructions

Disassembly Instructions:

ltem # Part # Description 1. Remove the spine beam top covers from the spine beam.
1 A EPVv— J——— 2. Remove the end caps using a 3/16” hex drive
~SBOxx (xx = 36-96 in 6" increments) | Spine Beam Top Cover 3. Remove outlets using a #2 phillips drive.
2 T-BRCxx (xx = 36-96 in 6” increments) | Cover 4. Remove #6-32 x 3/16” pan head screws from the support
3 DD-BREC End Cap bracket using a #2 ph||||£)s drive. .
5. Remove the %-20 x 5/8” cap screws from the verticals
4 RH-95479A111 %-20 Flange Nut using a 3/16” hex drive.
5 RH-91251A542 14,-20 x 1" Hex Cap Screw 6. Remove the support bracket from the beam base.
5 S - 7. Remove the #10 x 1” pan head screws from the verticals
RP-WASHER14-1 Washer using a #2 phillips drive.
7 E-MW8WA4DOx (x = 1,2,3 or 4) Outlet 8. Remove the spine beam top covers from the spine beam
8 RE-HS1058F #10-24 x 5/8” Pan Head Screw
9 DD-BCV Support Bracket
10 RH-9064A556 #6-32 x 3/16” Pan Head Screw 1 11
11 T-BRTXxX (xx = 36-96 in 6” increments) | Spine Beam \
12 O-TB Twist Plate
13 RH-SHB142058B-I %-20 x 5/8” Hex Cap Screw -,
14 RP=PSS1-A #10 x 1” Pan Head Screw :
15 T-BRVS Vertical
16 T-BRBxx (xx = 36-96 in 6” increments) Beam Base
15

[N
w

=
SN

(-
\u\u“\ \ \
N

()

S

AlS

WWW.ais-inc.com



